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II. R Ct=2|HE=M

b3-ch5-2.R

x<-c(2,3,4,5,6)
y<-c(4,4,6,6,10)
X3y
(n<-length(x))

sumx<—sum(x)); (sumy<-—

mx=mean(x));(my=mean(

beta0<-my-betal*mx
betal;betal
(b1hat<-cov(x,y)/var(x))

(bOhat<-mean(y)—b1hat*xmean(x))

N<-len

(XPX<=t(X)%*%X)

(XPXINV<-solve(XPX))
(XPY<=t(X)%*%Y
(

)
beta<—XPXINV%x*%XPY)
ols<=Im(y~x)
summary(ols)

sum(y))/
y))

= (sumx<-sumix))
[1] 20

= (sumy<-sumiy))
[1] 30

v

= (mx=mean(x
[1] 4

= (my=mgan(y))
[1] &

= (XPX<-T () %H*%K)

Coefficients:

Estimate std.
0. 400

® 1.400
Ly ———

{(Intercept)

Ssignif. codes: ©

[1,] 3
[2,]

ot

= (sumxy<-sum{xy))
[1] 134

> {sumxsqg<-sum(xA2))
[1] =0

= (sumysg<-sumyA2))
[1] 204

> betald; betal
[1] 0.4
[1] 1.4

= (blhat<-cov(x,y)/var{x})

[1] 1.4

= (hdhat<-mean(y)-blhat*mean(x))

[1] 0.4

(.11 [,2]
20
20

[,1] [,2]
1.8 -0.4
-0.4 0.1

> (XPY<-T(X)%*%Y)

[1,]
[2,]

Error © value
1.625 0.246
0. 383 3.656
i-;c--;‘-!

0.001 0.01

[

[.1]
30
134

Pri=[t])

0.8214
0.0354 =

0.05 °.

0.1t

Residual standard error: 1.211 on 3 degrees of freedom

Multiple rR-squared:
F-statistic: 13.36 on 1 and 3 DF,

0. 8167,

Adjusted R-squared:
p-value: 0.03535

0.7556

= (XNPXINV<-s0lve(XPx))

1




b3-ch5-4.R

library(openxIsx)

df<-read.xIsx("http://kanggc.iptime.org/book/data/consum

ption—e.xIsx")

year<—df[,1]
gdp<-df[,2]
consumption<—df[,3]

y<-ts(gdp, start=c(2000), frequency=1)

c<—ts(consumption, start=c(2000), frequency=1)

n<—length(y)

ny<-y[2:n]
nc<—cl2:n]

lagc<-c[1:n—-1]

Im_s<-Im(c~y)

ols_s

y0<-1700000
(chat_s<-summary(l
*y0)

che mof A%

+summary(im_s)$coef[2]

Coefficients:

Estimate std. Error
{(Intercept) 3.035e+04 9.610e+03
¥ £.291le-01 B8.25%9e-03

Signif. codes: 0 "=’

6

0.001

t value Pri=|t|)
3.179  0.00623 #*
76,173 = 2e-1g #n*

=’

0.01 **' 0.05 *." 0.1 °

Residual standard error: 10600 on 15 degrees of freedom

Multiple R-squared:
F-statistic:

0.9974,

= y0<-1700000

5802 on 1 and 15 DF,

Adjusted R-squared: 0.9972
p-value: =< 2.2e-16

= (chat_s<-summary(Im_s)}Scoef [1]+summary(Im_s)Scoef [2]*y0}
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